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1. (10%) What is the difference between “Client-Side scripting” and “Server-side
scripting™?

2. (10%) Explain what the Object-oriented programming (OOP) is.

(%)

(10%) List both the characteristics and differences between C++, Java and
MATLAB.

4. (14%) List the print number (x) of each step in the following program:
#include <iostream>
using namespace std;

int main()
¢

1

nt x=2.y.z;

X *=(y=z=3); cout << x << endl;
x ==(y=2); cout << x << endl;
X =(y==z); cout << x << endl;
X =(y&z): cout << x << endl;
x =(y&&z): cout << x << endl;
y=4:

x=(ylz); cout << x << endl;
x=(yljz): cout << x << endl;
return Q;

k]
3

4]

(20%) Assume every character or integer contains 8 digits. what will be the output
of the following C code?
(a) #include <iostream>
using namespace std:

int main()

f
8

unsigned char a=0xB3:
int b; b=a*2:
‘cout <<b;
return (:
1
{b} What is the output if we replace the highlighted line with:
int b: b=~a>>4;
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(16%) Write a program to calculate a 5-digit number abcde, where abcde*4=edcba
and digits are not repeatable. [The code has to be written in C or C++; Variables
need to be declared]

(20%) Use ‘for’ loops to multiply two matrix: A(i)(p) and B(p)(k), and restore
the values to a new matrix C(1)(k). [The code has to be written in C or C++;
Variables need to be declared]
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